Hardware Guide for P/N 918-P

O O
o o| 775P1
O
31) #833 Cupped Washers © - ©
31) 6x16mm Flange Bolts
2) 6x20mm Hex Bolts O O O
2) 6mm Flat Washers
2) #700-827 spacer
OO0 O OO
O O O/ g¢18p2
O O O
- O
mount to inserts using (all locations not marked):
M6x16 Flange w/ #833 Cupped Washer O
O O @)
O O O

Common with aluminum mounting

M6x20 Hex w/ #700-827 Spacer



